
98 1 P.T.O. 

narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

 Series SSO  H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 
 

 
 

 

 

 
 
 

 

 

 

CÚ{_Vm  
ENTREPRENEURSHIP  

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 70 

Time allowed : 3 hours Maximum Marks : 70 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 12 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >24 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 12 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 24 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE JE h¢ & 

(iii) àíZ g§»`m 1 go 5 A{V bKw CÎma àH$ma Ho$ àíZ h¢ & BZ_| àË`oH$ àíZ 1 A§H$ H$m h¡ & 
BZ_| go àË`oH$ H$m CÎma 15 eãXm| go A{YH$ Z hmo & 

(iv) àíZ g§»`m 6 go 10 bKw CÎma àH$ma Ho$ àíZ h¢ & BZ_| àË`oH$ àíZ 2 A§H$m| H$m h¡ & BZ_| 
go àË`oH$ H$m CÎma 50 eãXm| go A{YH$ Z hmo & 

(v) àíZ g§»`m 11 go 17 bKw CÎma àH$ma Ho$ àíZ h¢ & BZ_| àË`oH$ àíZ 3 A§H$m| H$m h¡ & BZ_| 
go àË`oH$ H$m CÎma 75 eãXm| go A{YH$ Z hmo &  

(vi) àíZ g§»`m 18 go 21 bKw CÎma àH$ma Ho$ àíZ h¢ & BZ_| àË`oH$ àíZ 4 A§H$m| H$m h¡ & BZ_| 
go àË`oH$ H$m CÎma 150 eãXm| go A{YH$ Z hmo & 

(vii) àíZ g§»`m 22 go 24 XrK© CÎma àH$ma Ho$ àíZ h¢ & BZ_| àË`oH$ àíZ 6 A§H$m| H$m h¡ & BZ_| 
go àË`oH$ H$m CÎma 250 eãXm| go A{YH$ Z hmo & 

General Instructions : 

(i) All the questions  are compulsory. 

(ii) Marks are indicated against each question. 

(iii) Questions No. 1 to 5 are very short answer type questions, carrying  

1 mark each. Answer to each of these should not exceed 15 words. 

(iv) Questions No. 6 to 10 are short answer type questions, carrying 2 marks 

each. Answer to each of these should not exceed 50 words. 

(v) Questions No. 11 to 17 are short answer type questions, carrying 3 marks 

each. Answer to each of these should not exceed 75 words. 

(vi) Questions No. 18 to 21 are short answer type questions, carrying 4 marks 

each. Answer to each of these should not exceed 150 words. 

(vii) Questions No. 22 to 24 are long answer type questions, carrying 6 marks 

each. Answer to each of these should not exceed 250 words. 

1. Eogo {H$Ýht Xmo àH$ma Ho$ bmoJm| H$s gyMr ~ZmBE {OÝh| ‘Ho$ÝÐr` CËnmX-ewëH$ {d^mJ’ go 
n§OrH$aU àmßV H$aZm hmoVm h¡ & 1 
List any two categories of persons that are required to obtain registration 

from ‘Central Excise Department’. 
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2. ‘gXñ`m| H$s Xo`Vm’ Ho$ AmYma na ‘g§`wº$ ny±Or H$ånZr’ VWm ‘g§`wº$ {hÝXÿ n[adma ì`dgm`’ _| 
AÝVa H$s{OE & 1 
Distinguish between a ‘Joint Stock Company’ and a ‘Joint Hindu Family 

Business’ on the basis of ‘liability of its members’. 

3. ~rH$mZoa Ho$ ~bd§V qgh Zo Eogo dmVmZwHy${bV Kam| Ho$ ~mao _| gmoMm {OZ_| {~Obr H$s 
Amdí`H$Vm Zht n‹S>>Vr & dh Eogo n`m©daU-{hVH$mar Ka, Omo J{_©`m| _| R>ÊS>o VWm g{X©`m| _| 

Ja_ ah|, Ho$ {Z_m©U Ho$ {dMma H$mo _yV© ê$n XoZm MmhVm Wm & CgHo$ _Z _| `h {dMma 2010 

_| Am`m bo{H$Z ApÝV_ CËnmX Zo 2014 _| AmH$ma J«hU {H$`m & Cn`w©º$ n§{º$`m| _| d{U©V 

‘g¥OZmË_H$ à{H«$`m’ H$s pñW{V H$m Zm_ ~VmBE & 1 
Balwant Singh of Bikaner thought of air-conditioned houses which do not 

require electricity. He wanted to explore the idea of construction of such 

eco-friendly houses which will remain cool in summers and warm in 

winters. He conceived the idea in 2010 but the final product could take 

shape in 2014. Name the stage in ‘The Creative Process’ described in the 

above lines. 

4. ‘nm[apñW{VH$ n`m©daU’ H$m AW© Xr{OE & 1 
Give the meaning of ‘Ecological Environment’. 

5. ZmJnwa H$m JrVm am_ EH$ g§Vam CËnmXH$ h¡ & dh EH$ N>moQ>r Á`yg CËnmXZ \¡$ŠQ´>r ewê$ H$aZm 

MmhVm h¡ {Og_| CgHo$ Ûmam VWm CgHo$ gmWr Jm±d-dmbmo§ Ûmam CËnm{XV g§Vamo§ H$m Cn`moJ 

{H$`m OmEJm & CZ {dÎmr` g§ñWmZm| H$m Zm_ ~VmBE {OZgo AnZr \¡$ŠQ´>r ewê$ H$aZo Ho$ {bE 
G$U àmßV H$aZo hoVw Cgo g§nH©$ H$aZm Mm{hE & 1 
Geeta Ram, an orange grower from Nagpur, wants to start a small juice 

producing factory using the oranges grown by him as well as by his fellow 

villagers. Name the financial institutions he should contact for obtaining 

loan for starting his factory. 

6. bú` {ZYm©aU Ho$ {H$Ýht Xmo {Z`_m| H$m CëboI H$s{OE & 2 
State any two rules for goal setting. 

7. {dnUZ {Z`moOZ Ho$ MaUm| Ho$ ê$n _| ‘ì`mdgm{`H$ pñW{V {díbofU’ VWm ‘b{jV ~mµOma H$s 

nhMmZ’ H$m AW© Xr{OE & 2 
Give the meaning of ‘Business situation analysis’ and ‘Identification of 

the target market’ as steps in preparing the marketing plan.  
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8. amhþb EH$ N>moQ>o n¡_mZo na OyVm ~ZmZo H$s \¡$ŠQ́>r ewê$ H$aZm MmhVm h¡ & ì`mdgm{`H$ {Z`moOZ 

Ho$ EH$ ^mJ Ho$ ê$n _| CgZo ‘_Zmoa§OH$ ñbmBS> emo VWm _m¡{IH$ dmVm©’  V¡`ma H$s, {OgH$m 

CÔoí` ~hg ewê$ H$aZm VWm g§^m{dV {ZdoeH$m| _| {b{IV àXe©Z H$mo n‹T>>Zo Ho$ {bE é{M 

CËnÞ H$aZm Wm & Cn ẁ©º$ AZwÀN>oX _| g§X{^©V ì`mdgm{`H$ {Z`moOZ àmê$n H$s nhMmZ 

H$s{OE VWm Bgo g_PmBE & 2 
Rahul wants to start a small shoe manufacturing factory. As a part of his 

business plan he prepared an ‘entertaining slide show and oral narrative’ 

that was meant to trigger discussion and create interest in potential 

investors for reading the written presentation. Identify and explain the 

format of the business plan referred in the above paragraph.  

9. ỳ.Ho$. _| BÝh| ‘ApÝV_ n§{º$`m±’ (end lines), ‘ApÝV_n§{º$`m±’ (endlines) AWdm 

‘ñQ´>onbmBÝg’ (straplines) H$hm OmVm h¡ & O_©Z BÝh| ‘Xmdo’ (claims) H$hVo h¢, \«$mÝgrgr 

BÝh| ‘hñVmja’ (signatures) H$hVo h¢, O~{H$ ~opëO`_ Ho$ bmoJ BÝh| ‘AmYma bmBÝg’ 

(base lines) H$hVo h¢ & Bg AdYmaUm H$s nhMmZ H$s{OE VWm BgHo$ àH$mam| Ho$ Zm_ 

~VmBE & 2 
In U.K., they are called ‘end lines’, ‘endlines’, or ‘straplines’. Germans call 

them as ‘claims’, French refer them as ‘signatures’, while Belgians call 

them ‘base lines’. Identify the concept and name its forms. 

10. AemoH$ gyVr H$n‹‹S>o go aoS>r_oS> dñÌ ~ZmZo _| bJm hþAm h¡ & Cg ì`mdgm{`H$ J{V{d{Y H$s 

nhMmZ H$s{OE {Og_| AemoH$ g§b½Z h¡ & AemoH$ Ûmam g¥OZ H$s JB© Cn`mo{JVm H$m Zm_ ^r 

~VmBE VWm BgH$s n[a^mfm Xr{OE & 2 
Ashok is engaged in the production of readymade garments using cotton 

cloth. Identify the business activity in which Ashok is involved. Also 

name and define the utility created by Ashok. 

11. ‘g_ñ`m nhMmZ’ go Š`m A{^àm` h¡ ? BgHo$ {H$Ýht Xmo CÔoí`m| H$m CëboI H$s{OE VWm 

‘g_ñ`m nhMmZ’ H$m EH$ CXmhaU ^r Xr{OE & 3 
What is meant by ‘Problem Identification’ ? State its any two objectives 

and also give an example of ‘Problem Identification’. 
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12. AnZo Jm±d Ho$ {dÚmb` go ~mahdt H$jm H$s n‹T>>mB© nyar H$aZo Ho$ níMmV² H$ar_ Zo AnZo Jm±d 
Ho$ nmg Ho$ H$ñ~o _| pñWV AmB©.Q>r.AmB©. _| BboŠQ´>r{e`Z Ho$ nmR²>`H«$_ _| àdoe bo {b`m & 
BboŠQ´>r{e`Z H$m H$mog© nyam H$aZo Ho$ níMmV² CgZo gaH$mar Zm¡H$ar àmßV H$aZo H$s H$mo{ee H$s 
naÝVw dh Cgo Zht {_br & Bg{bE CgZo joÌ Ho$ EH$ OmZo-_mZo BboŠQ´>r{e`Z Ho$ nmg ghm`H$ 
H$m H$m`© H$aZo H$m {ZU©` {H$`m & CgHo$ gmW Xmo dfmªo VH$ H$m`© H$aZo Ho$ níMmV² H$ar_ Zo 
AnZo Jm±d _| BboŠQ´>r{e`Z H$s XþH$mZ ImobZo H$m {ZU©` {H$`m & BgHo$ {bE CgZo  
< 10,000 Ho$ CnñH$a H«$` {H$E VWm < 2,000 à{V _mg Ho$ {H$am`o na EH$ XþH$mZ br & 
CgZo ñd`§ XþH$mZ H$m à~§Y {H$`m & 

(H$) H$ar_ Ûmam ewê$ {H$E JE ì`mdgm{`H$ g§JR>Z Ho$ àH$ma H$s nhMmZ H$s{OE & 

(I) nhMmZo JE ì`mdgm{`H$ g§JR>Z H$s {H$Ýht Mma {deofVmAm| H$m CëboI H$s{OE & 3 

Kareem after completing his XII class from his village school joined the 

course of electrician in an ITI  in a town near his village. On completion 

of this course he tried for a government job but could not get the same. 

He, therefore, decided to work as a helper to a renowned electrician of the 

area. After working with him for two years he decided to start his own 

electrician shop in the village. For this he purchased equipments of  

< 10,000 and hired a shop at a monthly rent of < 2,000. He himself 

managed the shop.  

(a) Identify the kind of business organisation set up by Kareem. 

(b) State any four characteristics of the identified form of business 

organisation. 

 

13. _yë` {ZYm©aU H$s ‘bmJV O_m’ {d{Y Ho$ bm^mo§ H$m CëboI H$s{OE & 3 
State the advantages of ‘cost plus’ method of pricing. 

 

14. ‘E|Ob {ZdoeH$’ VWm ‘CÚ_ n±yOr’ EH$ CÚ_r Ho$ {bE {dÎm EH${ÌV H$aZo Ho$ Xmo òmoV h¢ & 
XmoZm| H$s AdYmaUm H$mo Cgo AÝ` go n¥WH$ H$aZo dmbr EH$ {deofVm H$mo C{ëb{IV H$aVo 
hþE g_PmBE &  3 
‘Angel Investors’ and ‘Venture Capital’ are the two sources of raising 

finance for an entrepreneur. Explain the concept of both the sources 

stating one distinguishing feature of each.  
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15. 31 _mM©, 2014 H$mo g_mßV hþE df© Ho$ Xm¡amZ aoS>r_oS> H$n‹S>m| H$s EH$ \w$Q>H$a XþH$mZ ‘Xr em°n’ 
Zo 5,000 H$_rµO| < 200 à{V H$_rµO H$s Xa go ~oMt & AmXoe VWm _mb àmßV H$aZo H$s 
bmJV < 1,000 à{V AmXoe h¡ & ñQ>m°H$ H$mo aIZo H$s bmJV < 250 à{V df© h¡ & ‘Xr em°n’ 
Ho$ {bE ‘{_Vì``r AmXoe _mÌm’ H$s JUZm H$s{OE &  3 
‘The Shop’, a readymade garments retail shop, sold 5,000 shirts at < 200 

per shirt during the year ended 31st March, 2014. Cost of placing an 

order and receiving goods is < 1,000 per order. Inventory holding cost is 

< 250 per year. Calculate the ‘Economic Order Quantity’ for ‘The Shop’. 

 

16. J§JmYa EH$ O_©Z H$ånZr _| CËnmXZ _¡ZoOa H$m H$m`© H$a ahm Wm & H$ånZr µH$s_Vr VWm 
Cƒ-H$mo{Q Ho$ [a_moQ> g§Mm{bV agmoB© CnñH$am| H$m CËnmXZ H$aVr Wr & CgZo AnZo H$m_ go 
Ë`mJnÌ Xo {X`m VWm AnZo J¥h ZJa nQ>Zm dm{ng Am J`m & nQ>Zm _| Cgo CgH$m nwamZm {_Ì 
Am{XË` {_bm Omo nwamZr VH$ZrH$ H$m Cn`moJ H$aHo$ ñQ>rb Ho$ ~V©Z ~ZmZo dmbr AnZr \¡$ŠQ´>r 
H$m à~§YZ H$a ahm Wm & J§JmYa Zo Am{XË` H$mo µH$s_Vr VWm Cƒ-H$mo{Q> Ho$ agmoB© CnñH$am| 
H$m CËnmXZ H$aZo Ho$ {bE àmoËgm{hV {H$`m & CgZo Am{XË` H$mo {dÎm àXmZ H$aZo VWm AnZr 
{deofkVm àXmZ H$aZo H$m dmXm ^r {H$`m Vm{H$ Am{XË` Ûmam MbmB© OmZo dmbr CËnmXZ 
BH$mB© EH$ ~‹S>o CËnmXZ J¥h Ho$ ê$n _| {dH${gV hmo OmE VWm CgHo$ {ZdoeH$m| H$mo {Zdoe na 
Cƒ àË`m` Xa àmßV hmo & J§JmYa Ûmam Am{XË` H$mo àXmZ H$s JB© ‘ny±Or Ho$ òmoV’ Ho$ àH$ma 
H$s nhMmZ H$s{OE VWm Bgo g_PmBE &  3 

Ganga Dhar was working as the production manager in a German 

company. The company was producing remote operated high-end kitchen 

equipments. He resigned from his job and returned to Patna, his 

hometown. In Patna he met Aditya, his old friend, who had been 

managing his factory producing steel utensils with old technology.  

Ganga Dhar encouraged Aditya for the production of high-end kitchen 

equipments. He also promised to help Aditya by providing funds and his 

expertise so that the production unit run by Aditya can develop into a big 

production house and its investors may get high return on investments. 

Identify the kind of ‘source of capital’ provided by Ganga Dhar to Aditya 

and explain the same.  
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17. ‘hoëXr Oyg B§{S>`m {b{_Q>oS>’ VWm ‘Agbr Oyg {b{_Q>oS>’ \$bm| Ho$ Oyg Ho$ CËnmXZ _| bJr hþB©  
h¢ & XmoZm| H$ån{Z`m± 1,000 {_br-brQ>a Ho$ Q>oQ´>m n¡H$ _| Oyg ~oMVr h¢ VWm grYr à{VñnYm© _|  
h¢ & à{VñnYm© go ~MZo {bE XmoZm| H$ån{Z`m| Ho$ à~§YH$m| Zo {db` H$aZo H$m {ZU©` {b`m VWm 
EH$ ZB© H$ånZr ‘Agbr hoëXr Oyg B§{S>`m {b{_Q>oS>’ ~ZmB© & ZB© H$ånZr Zo H$ånZr Ho$ 
ñdm{_Ëd dmbo {dH«$` Ho$ÝÐm| Ho$ _mÜ`_ go \$bm| H$m Oyg nyao Xoe _| ~oMZo H$m {ZU©̀  {b`m & 

(H$) ‘CÚ_ d¥{Õ ì`yh-aMZm’ H$s nhMmZ H$s{OE VWm Bgo g_PmBE & 

(I) ‘Agbr hoëXr Oyg B§{S>`m {b{_Q>oS>’ Ûmam {ZYm©[aV {dVaU _mÜ`_ H$s nhMmZ ^r 
H$s{OE &  3 

‘Healthy Juice India Ltd.’ and ‘Asli Juice Ltd.’ are engaged in the 

production of fruit juice. Both the companies sell the juice in 1,000 ml 

tetra packs and are in direct competition. To avoid competition, the 

management of both the companies decided to merge and formed a new 

company ‘Asli Healthy Juice India Ltd.’. The new company decided to sell 

the fruit juice through the company owned outlets throughout the 

country. 

(a) Name and explain the ‘Enterprise Growth Strategy’. 

(b) Also identify the channel of distribution decided by ‘Asli Healthy 

Juice India Ltd.’  

18. g¥OZ à{H«$`m H$m àW_ MaU ‘{dMma CËnÞ hmoZm’ h¡ & Bg à{H«$`m Ho$ AÝ` MaUm| H$m 
CëboI H$s{OE & 4 
The first step in the creative process is ‘Idea Germination’. State the 

other steps of this process.  

19. b{bVm Xodr Zo AnZr ñZmVH$moÎma H$s n‹T>>mB© _{Unwa {díd{dÚmb`, B§\$mb go nyar H$s & 
{Xëbr VWm _wå~B© O¡go ~‹S>>o eham| H$s {d»`mV \$_m] go CgHo$ nmg Zm¡H$ar Ho$ àñVmd Wo & 
BZ_| go {H$gr EH$ \$_© _| Zm¡H$ar H$aZo Ho$ ~Om` CgZo B§\$mb _| hr Hw$N> g¥OZmË_H$ H$m ©̀ 
H$aZo H$m {ZU©` {b`m & CgZo XoIm H$s B§\$mb Ho$ Amg-nmg Ho$ Jm±dm| Ho$ {H$gmZ EH$ {d{eîQ> 
àH$ma H$s {_M© H$s IoVr H$aVo h¢ & Bg {_M© H$m EH$ {deof ñdmX h¡ VWm Bggo ~Zo AMma 
H$mo Xoe Ho$ {d{^Þ {hñgm| Ho$ bmoJ ng§X H$a gH$Vo h¢ & naÝVw Z Vmo {H$gmZ ~‹S>r _mÌm _| 
{_M© H$s IoVr H$aZo Ho$ {bE à{e{jV Wo Am¡a Z hr CZHo$ CËnmX Ho$ {bE EH$ gwa{jV ~mµOma 
Wm & b{bVm Xodr, joÌ H$s g_mZ {dMmam| dmbr AR>mah _{hbmAm| go {_bt VWm AMma 
CËnmXZ Ho$ ì`dgm` Ho$ {bE EH$ g§JR>Z H$m {Z_m©U {H$`m & àË`oH$ Zo BgH$s ny±Or Ho$ {bE 
< 2,00,000 H$m `moJXmZ {X`m VWm g^r BgHo$ à~§Y Ho$ {bE ~am~a H$s {µOå_oXma Wt & 
EH$ Va\$ Vmo CÝhm|Zo {H$gmZm| Ho$ {_M© Ho$ gånyU© CËnmXZ H$mo IarXZo H$m ^amogm {X`m VWm 
Xÿgar Va\$ CÝhm|Zo ñWmZr` H¥${f {d^mJ H$s ghm`Vm go {H$gmZm| Ho$ à{ejU H$m BÝVµOm_ 
{H$`m & CÝhm|Zo Xg ñWmZr` ~oamoµOJma b‹S>{H$`m| H$mo ^r AMma CËnmXZ Ho$ {d{^Þ H$m`© H$aZo 
Ho$ {bE Zm¡H$ar na bJm`m & 
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(H$) Cg à{H«$`m H$m Zm_ Xr{OE {OgZo b{bVm Xodr Ho$ ‘{dMma H$mo Adga _| n[ad{V©V 
H$aZo’ _| ghm`Vm H$s & 

(I) Cg g§JR>Z Ho$ àH$ma H$s nhMmZ H$s{OE {OgH$s ñWmnZm H$aZo H$m {ZU©` b{bVm 
Xodr Zo {b`m & 

(J) Eogo {H$Ýht Xmo _yë`m| H$m CëboI H$s{OE {OÝh| b{bVm Xodr g_mO H$mo g§ào{fV H$aZm 
MmhVr h¡ &  4 

 
Lalita Devi did her post-graduation from Manipur University, Imphal. 

She had offers to join reputed firms in metropolitan cities like Delhi and 

Mumbai. Instead of joining any of these firms she decided to do some 

creative work in Imphal. She observed that a special type of chilli is 

grown by the farmers of most of the villages around Imphal. This chilli 

has a distinct flavour and the pickle made from it has a taste that may be 

liked by many people in other parts of the country. But the farmers were 

neither trained in the farming of this kind of chilli on a large scale nor 

was there a secured market for their produce. Lalita Devi met eighteen 

like-minded women of the area and formed an organization for doing the 

business of pickle manufacturing. Each of them contributed  

< 2,00,000 towards its capital and were equally responsible for its 

management. On one hand they assured the farmers to purchase the 

chilli produced by them and on the other hand, the organization with the 

help of the local agriculture department arranged for the training of the 

farmers. They also employed 10 local unemployed graduate girls for doing 

the various operations of pickle manufacturing. 

(a) Name the process that helped Lalita Devi in ‘converting an idea 

into an opportunity’. 

(b) Identify the kind of organization that Lalita Devi had decided to set 

up. 

(c) State any two values which Lalita Devi wants to communicate to 

the society. 
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20. ‘JwS> dme {b{_Q>oS>’ nyU© ñdMm{bV YwbmB© _erZm|, {OÝh| ‘ñ_m°b’, ‘_r{S>`_’, ‘bmO©’ VWm 

‘B§S>pñQ´>`b’ _mH©$ {XE JE h¢, Ho$ {Z_m©Vm h¢ & ZrMo Xr JB© gyMZm Ho$ AmYma na à{V _mh 

CËnm{XV _erZm| H$s ‘g_-{dÀN>oX-_mÌm’ H$s JUZm H$s{OE & 4 
  

 gyMZm :  
 

_erZ 
{dH«$` _yë` à{V 

BH$mB©  

< 

n[adV©Zr` bmJV à{V 
BH$mB©  

< 

ñWm`r ì`` à{V 
_mh  

< 

ñ_m°b 10,000 3,000 35,000 

_r{S>`_ 15,000  8,000 35,000 

bmO© 20,000 13,000 70,000 

B§S>pñQ´>`b 35,000 20,000 1,50,000 

 

 

‘Good Wash Ltd.’ are the manufacturers of different sizes of fully 

automatic washing machines marked as ‘small’, ‘medium’, ‘large’ and 

‘industrial’. From the information given below, calculate the ‘Break-Even 

Quantity’ of the machines manufactured per month. 

Information : 

Machine 

Unit Selling 

Price  
< 

Unit Variable 

Cost  
< 

Fixed Expenditure 

Per Month  
< 

Small 10,000 3,000 35,000 

Medium 15,000  8,000 35,000 

Large 20,000 13,000 70,000 

Industrial 35,000 20,000 1,50,000 
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21. {nN>bo 20 dfmªo go ‘gwëVmZ Q´>Šg {b{_Q>oS>’ dm{UpÁ`H$ Q´>H$m| Ho$ {Z_m©Vm h¢ & H$ånZr AÀN>m 
ì`dgm` H$a ahr Wr naÝVw hmb hr _| BgHo$ nwOm] Ho$ Amny{V©H$Vm©Am| Ûmam A{Z`{_V Amny{V© 
Ho$ H$maU H$ånZr, CZ nm{Q>©`m| H$mo {OÝhm|Zo Q´>H$ ~wH$ H$adm`o hþE Wo, g_` na Q´>H$m| H$s 
gwnwX©Jr Zht H$a nmB© Wr & Cn^moº$mAm| Zo AnZr ~wqH$J aÔ H$a Xr VWm ZB© ~wqH$J ~hþV H$_ 
hþB© & H$ånZr H$s {~H«$s H$_ hmoZr ewê$ hmo JB© & n[aUm_V… H$ånZr H$mo hm{Z hmoZr ewê$ hmo 
JB© & H$ånZr à~§YZ Zo g_ñ`m H$m {díbofU {H$`m VWm CZ Xmo \$_m] H$m A{YJ«hU H$aZo H$m 
{ZU©` {b`m {OZHo$ H$maU g_ñ`m CËnÞ hþB© Wr & CZ_| go EH$ dh Wr Omo H$ånZr Ho$ Q́>H$m| 
Ho$ {bE Q>m`am| H$s Amny{V© H$aVr Wr VWm Xÿgar dh Omo EŠgbm| H$s Amny{V© H$aVr Wr & 
H$ånZr Zo Cn^moº$mAm| H$mo CYma H$s gw{dYmE± ~‹T>m Xt VWm {~Zm ~wqH$J am{e {bE Q´>H$ ~wH$ 
H$aZo ewê$ H$a {XE & BgZo \¡$pŠQ´>`m| Ho$ AÝXa VWm Amg-nmg Ho$ joÌm| H$mo gm\$ H$aZo Ho$ {bE 
100 ~oamoµOJma `wdH$m| H$mo ^r Zm¡H$ar na aIZo H$m {ZU©` {H$`m, {Og_| _{hbmAm| Ho$ {bE 
50% AmajU Wm, {OÝhm|Zo Am`m{VV _erZm| Ûmam g\$mB© H$m H$m`© H$aZm Wm & 

(H$) ‘CÚ_ {dnUZ VWm d¥{Õ ì`yh-aMZm’ H$s CZ AdYmaUmAm| H$s nhMmZ d CëboI 
H$s{OE {OZH$s MMm© Cn`w©º$ AZwÀN>oX _| H$s JB© h¡ & 

(I) EH$ Eogo _yë` H$s nhMmZ ^r H$s{OE {Ogo ‘gwëVmZ Q´>Šg {b{_Q>oS>’ g_mO H$mo ào{fV 
H$aZm MmhVo h¢ &  4 

 

‘Sultan Trucks Ltd.’ are the manufacturers of commercial trucks for the 

last 20 years. The company had been doing good business but recently 

due to irregular supply of parts by its suppliers, the company could not 

make timely delivery of trucks to the parties who had booked their 

trucks. The customers cancelled their bookings and there were very few 

new bookings. The sales of the company started declining that resulted 

into losses. The management of the company analyzed the problem and 

decided to take over those two firms because of whom the problem arose, 

one of them was supplying tyres for its trucks and another axles to the 

company. The company also extended credit facilities to the customers 

and started booking the trucks without charging any booking amount. It 

also decided to employ 100 unemployed youth, with 50% reservation for 

females to take up the cleaning operations, using the imported machines, 

inside the factories as well as the surrounding areas. 

(a) Identify and state the concepts of ‘Enterprise Marketing and 

Growth Strategies’ discussed in the above paragraph. 

(b) Identify any one value which ‘Sultan Trucks Ltd.’ wants to 

communicate to the society. 
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22. ‘~mµOma H$mo Š`m Amdí`H$Vm h¡ `m Š`m Mm{hE H$m nydm©Zw_mZ bJmZm ì`dgm` H$s g\$bVm 
H$s EH$ Hw§$Or h¡ &’ My±{H$ CÚ_r Ho$ {bE ^{dî` _| XoIZm g§^d Zht h¡, CgHo$ {bE EH$ 
loîR> VarH$m h¡ & `h ‘loîR> VarH$m’ CÚ{_`m| H$mo ~mµOma H$mo g_PZo _| ghm`Vm H$aoJm VWm 
Cgr Ho$ AZwgma dñVwAm| H$m CËnmXZ {H$`m OmEJm AWdm godmE± àXmZ H$s OmE±Jr & 

(H$) Cn`w©º$ n§{º$`m| _| M{M©V AdYmaUm H$s nhMmZ H$s{OE &  

(I) CÚ_r Ûmam nhMmZ H$s JB© AdYmaUm go gå~pÝYV J{V{d{Y`m| H$mo {Zînm{XV H$aZo 
Ho$ {H$Ýht VrZ VarH$m| H$mo g_PmBE & 6 

 

‘One of the keys to business success is to anticipate what the market will 

want or need.’ Since it is not possible for an entrepreneur to see into the 

future, there is one best way. This ‘best way’ will help the entrepreneur 

to understand the market and produce goods or provide services 

accordingly. 

(a) Identify the concept discussed in the above lines. 

(b) Explain any three ways in which an entrepreneur can perform the 

activities related to the concept identified. 

 

23. ‘AnZm T>m~m’ Ho$ Zm_ go H$aZ Zo amîQ´>r` amO_mJ© Zå~a 1 na < 20,00,000 IM© H$aHo$ EH$ 
aoñQ>moa|Q> Imobm & CgZo < 8,00,000 ñd`§ Ho$ {Zdoe {H$E VWm < 12,00,000 H$m 
Eg.~r.AmB©. go 6% dm{f©H$ H$s Xa go G$U {b`m & CgH$s _m{gH$ {dH«$` AmJ_  
< 12,00,000 VWm {dH«$` {H$E JE _mb na bmJV < 7,00,000 h¡ & dh AnZo 
H$_©Mm[a`m| H$mo < 2,00,000 _m{gH$ doVZ H$m ^wJVmZ H$aVm h¡ & Q>¡Šg H$s Xa 25% h¡ & 

 AmnH$mo H$aZ Ho$ {bE {ZåZ{b{IV H$s JUZm H$aZr h¡ : 

(H$) {d{Z`moJ na àË`m` 

(I) g_Vm na àË`m` 6 

Karan has started a restaurant on National Highway No.1 in the name of 

‘Apana Dhaba’ by spending < 20,00,000. He invested < 8,00,000 of his 

own and took a loan of < 12,00,000 from SBI at the rate of 6% per 

annum. His monthly sales revenue is < 12,00,000 and the cost of goods 

sold is < 7,00,000. He pays monthly salaries of < 2,00,000 to his 

employees. The rate of tax is 25%. 

You are required to calculate the following for Karan : 

(a) Return on Investment 

(b)  Return on Equity 
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24. EH$ AmB©.AmB©.Q>r.-AmB©.AmB©.E_. ñZmVH$ gVZm_ Zo A_¥Vga, n{Q>`mbm VWm MÊS>rJ‹T>> _| 
‘Šdm{bQ>r _o{S>{gZ’ Ho$ Zm_ go XdmB© H$s VrZ XþH$mZ| Imobt & BZ XþH$mZm| H$s g\$bVm go 
CËgm{hV hmoH$a gVZm_ Zo n§Om~ Ho$ {d{^Þ ^mJm| _| 50 Am¡a XþH$mZ| Imob Xt & CgH$s  
ì`yh-aMZm _yë` H$_ H$aZm, {ZMbo VWm _Ü`_ dJmªo na Ü`mZ XoZm VWm AñnVmbm| Ho$ {ZH$Q> 
XþH$mZ| ImobZo H$s Wr & CgZo ~hþV H$_ bm^ na H$m_ {H$`m & bo{H$Z dh ì`dgm` Ho$  
{XZ-à{V{XZ Ho$ IMm] H$mo nyam H$aZo Ho$ {bE n`m©ßV H$mof ~ZmE aIZo _| Ag_W© ahm & 
XþH$mZm| na H$_©Mm[a`m| Zo J«mhH$m| H$s Amoa H$_ Ü`mZ {X`m VWm CZH$s {Z`§§ÌU ì`dñWm ~hþV 
K{Q>`m Wr & Bg Iam~ à~§Y Ho$ H$maU Cgo ~hþV A{YH$ hm{Z hmoZo bJr VWm CgH$m 
ì`dgm` {d\$b hmo J`m & 

 Cn ẁ©º$ AZwÀN>oX Ho$ AmYma na gVZm_ Ho$ ì`dgm` _| {d\$bVm Ho$ {H$Ýht Mma H$maUm| H$s 
nhMmZ H$s{OE VWm BÝh| g_PmBE & 6 

 
Satnam, an IIT-IIM graduate, started three chemists shops at Amritsar, 

Patiala and Chandigarh in the name of ‘Quality Medicines’. Encouraged 

with the success of these shops Satnam opened 50 more shops in different 

parts of Punjab. His strategy was to cut price, focus on lower and upper 

middle class and open shops near hospitals. He operated on very thin 

margins. But he was not able to maintain sufficient funds to meet the 

day-to-day expenses of the business. The staff at the shops did not give 

much attention to the customers and there was very poor system of 

control. Because of this mismanagement he started incurring huge losses 

and his business failed. 

Based on the above paragraph, identify and explain any four causes of 

business failure of Satnam. 

13,500 


